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PART — A ( HTT-37)

U 3ek JT U9 ¢ All question carry one mark each.
IS F R F AT GRS

(F)180° (@) 360° (7) 3 x 90°

The sum of angles of a quadrilateral is ................

(a) 1807 (b) 360° (c)3 » 90°
YAFFEITF e, T fierd € |

(F) s (@) ER () g0 R

The centre of circle liesin ............. ofcircle.

{a) Exterior (b) Interior (¢) On the circle

I &I TEH FS A G Hl o BIATE |

(%) fm=n (@) =™ (1) =Y

The longest chord of cirlceis ................ of circle.

(a) Radius (b) Diameter (c)Arc
afe femet st Ft Yo a, b 33 ¢ # & wue sl ufom L B
@I @arbre () M2
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If the sides of triangle are a, b and ¢ then its semiperimeter

B8 cunos -
~a+b+c at+hb+c
(a) = (b)atb+e (¢) —
Q. (S) = H P AAFE ... S
(F)6a" (@) 6a oy A
Surface areaofcubeis ... :
{(a) 6a* {b) 6a (¢) bih
Q. (6) U T &l IBTAA T Hel o i ... 2l
(&)1 (g) 2 (1) 3
A coin is tossed once, the no. of total cutcomes willbe ............... :
(a) 1 (b2 ()3
Q. (7) UHHHEEISH, ..., s, B

(%) WHeFE qATE Sy& B1dl & |

(@) HHHS RV SRE 161 810 ¢ |

() fareof weeg wafg wifsa T i € |
Inaparallelogram ... .. .

(a) Opposite sides are equal,

(b) Opposite anlges are not equal.

(¢) Diagonals will not bisect each other.
2
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Q. (8) TH 1 errwheT 3Tk STIHR 3R Ha ¥ #rd & TorTEe &l

............ gl e |
() sten (@) < () faran
The area of traingle is .............. the product of its base and the
corresponding altitude.
(a) Malf (b) Twice (¢) Thrice
QO TwmgTTamaRREas, 30 ... i o faenfsr s
gl
(F)2 (@) 3 () 4
A circle devides the plane on whichit liesin ... parts,
(a) 2 (b)3 (c)4

Q. (10) afe S &1 YoT a , b 3R ¢ & @ SR F T 510 s =
SR = [s(5—a) (5-D) (5-¢c) Tl 's' T
(=) st &1 i

(1) T k1 sreufony

(77) TS =T MR

The area of triangle with its sides as a, b and ¢ is calculated by

'Heron's Formula" stated as :V-"s(s ~a)(s—b)(s—c) where s
15 s .

(a) Perimeter of triangle
{b) Semiperimeter of tnangle

(¢) Base of tnangle
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Q. (11) 7Tel =T 3T fordest == r € |

R o 4
()37t (@) 4mr’ () S
Volume of sphere of radius r is ?
0 3 4
(a) 3t (b) 4mr (c) T
Q. (12) A HHH ..o 2|
. Dixi N fi+xi Y fi
(h) 3 (@) S (M) S fixi
The formula to final meanis ...
> fixi D fi+xi >
@) 55 (b) s (©) $™rixi
Q. (13) &gt ==ar = e St Wil ... > £
\r ?}!
() -1, 1 (=) 1,2 () 0,1
Probability ofan event lies between ..........and .. ...
(a) -1, 1 (b) 1,2 (c) 0, 1
Q. (14) 7em 3u-ﬂl'ﬂ1ﬁ§ﬂﬁ@ﬂ$ﬂ ............. &
22 .
(&) [20em® (g) —emr (77) 154cm®
!/

The area ol a circle having radius 7emis ...,
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(a) 120cm? () % cm® (¢) 134em?

Q. (15) smmae o forerof gz anfgnfsd e € sl veRm ., B
i
(F) TR (@) (1) B1E AR =L
The diagonals of rectangle bisect each otherand are.,......... .
(a) Not equal (b) Equal (¢} Sinall and big

Q. (16) STEIE &1 FHd TR STEA ............ B |
()27 (=) 3 (1) 4nr?
The total surface area of a hemisphereis ...
(a) 2mr? (b) 3mr (¢c) 4mr-

Q. (17) afe 2 =1 Y&t &% /, 8 drasi/ ... 2l
(F)2on2 (@ iz (MR
If the curved surface area of'a cone iswr/, where 7'is ... |
(@) ;2 p? (b) \-’rr2 +h* (€)r + e

Q. (18) AT G BRI ... BIATR |

(&) =A@ (@) sdAfgew wor (37) qaE

Angle ina semicircleis ... ... .

(a) Acute angle (b) obtusc angle (c) Right angle
Q. (19) W =Y = I 0T 90°, 120, 60° T &l IR, ... gl
(#) 60° (@) 120° () 90°
5
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If three angles of a quadrilateral are 90°, 120° and 60° than the
fourthangle willbe ...

(a) 60° (b) 120° (o) onr

Q. (20) T F1 HA TR &TGA ............ g
(&) 2nrh (@) 2x (r+ h) (71) 2mrh
Total curved surface area of eylinderis ... :
(a) 2mrh (b) 2% (r + h) (c) 2nr-h

PART — B ( HT-9 )
2 375 ATl WA (7 U9l § | wIE 4 Wy )

All question carry 2 mark (Attempt any 4 questions out of 7
questions)

Q. (1) W& T 1 1000 IR 3BT R FAfAlRad arrerae urw
Bl & : fora : 455 92 : 545 faa 1 wfgwar g sifsrg 2

A coin tossed thousand times with following frequencies ;

Ilead : 455, Tail : 545, Find the probability of | lead ?
Q. (2) 10,5 em 51 91 M 1 Y1y &l d1d wifs
IFind the surface area of'a sphere of radius 105 cm.

Q. (3) us <l gy farvor o wrifier farmg we 45° & v T T=AT HIfT |

Construct an angle of 45° at the initital point of a given ray.
Q. (4) Sem @1 3em T3 =1t &1 g < fa=gaql 1 wfasde & € aur

39T 2l & sfte 1 gl dem © | 3VElTS Hla1 B R HTd
EIELY
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Q.7

Q. (8)

Two circles of radii 5cm and 3cm intersect at two points and the
distance between their centre is 4cm. Find the length of the common
chord.
arfery 1 fessl &1 719 4om » 2.5em x 1. Sem B 1 0T 2 fefeay
& U The =1 AT 941 2117

A match box measures 4cm < 2 Scm » 1,5¢m what will be the
volume oftwo such boxes ?

I Fo G R K ST A F S STt F 6om adr
FHE Tem ® |

Find the volume of the right circular cone with radius 6cm and
height 7em,

20 ferenferat grr (10 ¥ 4) yrw fod mu fafofaa stal o
g T BT |

4,6,5,9.3,2.7,.7,6,54,9 10,10,3,4.7,6,9,9

Find the mode of the following marks (out of 10) obtained by 20
students

4.6.593,2,7.76 5461010547699

3 37! 9Tl U9 (7 U9l ° 9 iE 4 U9 &l )

All questions carry 3 marks each (Attempt any 4 question
out of 7 questions)

aufew for weh ay =y & faemel gt epe 98 &)
Show that the diagonals of' a rhombus are parpendicular to each

other.
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Q. (9) ABCD UH AW =G4S &, AE L DC 3 CF L AD 9fe
AB = [6em, AE = 8cm 3 CF = 10em & 41 AD 914 wifsra |
ABCD is a parallelogram, AE L DC and CI' LAD,
IfAB - 16ecm, AE = 8cm. and CF = 10cm Find AD

&
5 ;
I
I
|
Er i
| |
f
o | J
o I ]
a1 {
W "‘\“;
- A
T, ii
s, i
.,
- i
S 3
.‘ \-ﬂ-\“_!
I =
e

Q. (10) TF FAHS & I3 :5:9 13 & 790 H & | 39 Tt & ol
10T 710 IS |
The angles ofa quadrilateral intheratio 3 : 5 9. 13 Find all angles
of quadrilateral.

Q. (11) Uz ¥ T S8 160m ¥ 3R 3R 1 5791 12em ¥ | 39 O

1 &5 YSST &Rl J1d hiferg | (= 3.14)

The height of a cone 1s 16em and its base radius is 12¢m. Find

curved surface area of the cone (m=3.14)
8
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Q. (12) TF 20 A weara & 10 T § Frefafiaa 1A fag

2 %.4,.%5.0,1,33,4.3

El

T TIGH o1 HIE, S A 6 FIY 2
The following number of goals were scored by a team in a series of
10 matches
2.83.4. 5 003 3l 4 3§
Find mean and median ?

Q. (13) T TTITRR el &1 591 3.5cm & 30 31T s 1 ot
1T ST STTEA ST il ?

A hemispherical bowl has a radius of 3 Sam what would be the

volume of water it would contain ?
Q. (14) 39 F5a1 %1 e I T S5 {eTstl %1 8T 1217 : 25
2 371 aftaTy 540 cm, # |
Find the area of a triangle whose sides are in the ratioof 12 17 - 25
and its perimeter is 540cm.

5 315 OTeA UYT (4 UyHT O © @hIg 2 U9 &)

All question carry 5 marks each (Attempt any 2 question out

of 4 marks)

Q. (15) U ByS1 ABC ot W1 shifay foraid B = 60°, £C =45° 3R

AB +BC +CA=1lcm. %I

Construct a triangle ABC is which angle £ZB — 60°, £C=45° and
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AB+-BC+CA=1lcm,

Q. (16) 915 o 3MAN T Uak TaIs1 =1 fads S8 307 amen @ =y
U 25m 31T 14m ¥ | STH1 9% T8 T &9 210 T 100m? 1
T H Sl A A A6 B
The slant height and base diameter of a conical tomb are 25m and
14m respectively. Find the cost of white washing its curved surface
area at the rate of Rs. 210 per 100m”
Q. (17) fag Fifse s uw |mic FqHs & 9@ S IO B | |
Prove that in a parallelogram opposite angles arc equal.
Q. (18) @ faael 1 TH Y 30 9N IV W I a1 Foaaq A= &1
e f &

g H o2 2 1 2 3.4 31
i L L 2 249 1 2 l
% 0 & &l B 2 200

F fedi 7 sieRel & fod uw s S Rt 9T
Three coins were tossed 30 times simultaneously. Each time the
number of heads occuring was noted down as :

gL & 2 .z 3 I 3 0

i b 1 2

3 0 e Tl 2 3 2 200

1

3
[E]
B

Prepare lrequency distribution table for the above wiven data.
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